PHYS 142, EXAM1  NAME: SECTION:

(_f“') 2. (a) Calculate the electric patential at paint P (which is at the origin), due to the charged rod with legth L and
the lotal charge Q; the rod is a distance a from the origin (see picture). (b) If | put a charge q at point P, what will
be its eleciric potential energy (with respect to the rod)? (c) What is the direction of the electric field at point P,
assuming that the charge Q is negative? (d) How would you set up the calculation of its magnitude? (you dont

actually have to calculate it) ?,
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